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- {0

1.33
+7.228

2.308
+4.637

5.785
+2.114

6.588
+5.637

1.456
+2.923

4.619
+6.6/6

8.528
+4.88

8.121
+6.975

1.435
+9.086

6.927
+4.461

0.089
+4.294

7.398
+4.443

1.568
+9.837

0.349
+3.009

2.253
+9.816
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9.464
+9.07

3.585
+4.959

5314
+5.593

5.013
+4.336

6.18
+9.783

2w,

2.314
+5.07

4.093
+7.443

5.878
+6.711

7.196
+6.419

1.559
+5.014
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2B, 3) & yiell 5wl go)

powl:

1.33
+7.228
8,558

2.308
+4.637
6,945

5.785
+2.114
7,899

6.588
+5.637
12,225

1.456
+2.923
4,379

4.619
+6.67/6
11,295

8.528
+4.88
13,408

8.121
+6.97/5
15,096

1.435
+9.086
10,521

6.927
+4.461
11,388
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0.089
+4.294
4,383

7.398
+4.443
11,841

1.568
+9.837
11,405

0.349
+3.009
3,358

2.253
+9.816
12,069

9.464
+9.07
18,534

3.585
+4.959
8,544

5314
+5.593
10,907

5.013
+4.336
9,349

6.18
+9.783
15,963

2w,

2.314
+5.07
7,384

4.093
+7.443
11,536

5.878
+6.711
12,589

7.196
+6.419
13,615

1.559
+5.014
6,573
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